
 0.420 

 0.183 

 0.580 

 0.365 

M2.5 X 0.45-6H

TAPPED THRU

 0.267 

 0.380 

 0.240 

 0.170 

 0.175 
M2.5 X 0.45-6H

TAPPED THRU

 0.250 

 0.380 

 0.042 

 2X 0.090 

 0.282 

EXPLODED VIEW
3U RTM PLUG-IN CARD ASSEMBLY

(NOT PART OF HANDLE KIT)
CAPTIVE SLEEVE & SCREW

TOP HANDLE

M2.5-0.45X11mm LONG

M2.5-0.45X8mm LONG

CAPTIVE SCREW

PAN HEAD SCREW

PRINTED CIRCUIT BOARD
(NOT PART OF HANDLE KIT)

M2.5-0.45X6mm LONG
PAN HEAD SCREW

EMC GASKETED FRONT PANEL,
SHOWN 3U X 4HP
(NOT PART OF HANDLE KIT)

ESD PIN

HANDLE LEVER,
INDUSTRIAL GRADE PLASTIC

KEYING BRACKET,
DIECAST ZINC

FRONT PANEL

 0.337 

 1.38 

0.100

OPENING FOR

 0.920 

M2.5 X 0.45-6H

TAPPED THRU

3X 0.098
KEYING CHAMBERS

 0.100 

M2.5 X 0.45-6H

TAPPED

 0.337 

 0.0215 

 0.325 

 0.200 TYP 

 0.640 

 0.394 

HANDLE LEVER,

ESD PIN

INDUSTRIAL GRADE PLASTIC KEYING BRACKET,
DIECAST ZINC

 0.920 

 1.38 

 0.337 

TAPPED THRU

M2.5 X 0.45-6HOPENING FOR

FRONT PANEL

0.100

 0.137 

MATING PLANE
PCB COMPONENT SIDE

PCB FRONT EDGE

 0.140 

 0
.7

8
8
 M

A
X

 

 0.154 

 0.275 

MATING PLANE
PCB COMPONENT SIDE

PCB FRONT EDGE

 0
.7

8
8
 M

A
X

 

 0.140 

 0.154 

 0.275 

3X 0.098
KEYING CHAMBERS

 0.200 TYP 

 0.337 

 0.100 

 0.0215 

 2X 0.294 

 0.325 

 0.640 

M2.5 X 0.45-6H

TAPPED

EXPLODED VIEW
6U OR 9U PLUG-IN CARD ASSEMBLY

M2.5-0.45X11mm LONG
CAPTIVE SCREW

PAN HEAD SCREW
M2.5-0.45X6mm LONG

PRINTED CIRCUIT BOARD
(NOT PART OF HANDLE KIT)

M2.5-0.45X6mm LONG
PAN HEAD SCREW

M2.5-0.45X6mm LONG

CAPTIVE SCREW

PAN HEAD SCREW

BOTTOM HANDLE

M2.5-0.45X11mm LONG

SHOWN 6U X 4HP
(NOT PART OF HANDLE KIT)

EMC GASKETED FRONT PANEL,

M2.5-0.45X6mm LONG
PAN HEAD SCREW

ITEM NO DESCRIPTION QTY U/ M

1 HANDLE, BOTTOM, TYPE IV 1 EACH

2 HANDLE, TOP, TYPE IV 1 EACH

3 L-BRACKET, METAL 1 EACH

4 SCREW, PAN HEAD, M2.5-0.45X6mm 5 EACH

5 SCREW, CAPTIVE, M2.5-0.45X11mm 2 EACH

6 SCREW, FLAT HEAD, M2.5-0.45X8mm 1 EACH

90100016 PARTS LIST
(FOR 6U OR 9U FRONT PANEL ASSEMBLY)

BOTTOM HANDLE DETAIL

TOP HANDLE DETAIL

L-BRACKET DETAIL
(PART OF 90100016)

ITEM NO DESCRIPTION QTY U/ M

1 HANDLE, BOTTOM, TYPE IV 1 EACH

2 SCREW, PAN HEAD, M2.5-0.45X6mm 1 EACH

3 SCREW, PAN HEAD, M2.5-0.45X8mm 1 EACH

4 SCREW, PAN HEAD, M2.5-0.45X10mm 2 EACH

5 HEX NUT, M2.5X0.45-6H 2 EACH

6 SCREW, CAPTIVE, M2.5-0.45X11mm 2 EACH

7 WASHER, SPLIT LOCK, # 3 2 EACH

90100002-1 PARTS LIST
(FOR 3U FRONT PANEL ASSEMBLY)

90100002 PARTS LIST
(FOR 3U RTM PANEL ASSEMBLY)

ITEM NO DESCRIPTION QTY U/ M

1 HANDLE, TOP, TYPE IV 1 EACH

2 SCREW, PAN HEAD, M2.5-0.45X6mm 1 EACH

3 SCREW, PAN HEAD, M2.5-0.45X8mm 1 EACH

4 SCREW, PAN HEAD, M2.5-0.45X10mm 2 EACH

5 HEX NUT, M2.5X0.45-6H 2 EACH

6 SCREW, CAPTIVE, M2.5-0.45X11mm 2 EACH

7 WASHER, SPLIT LOCK, # 3 2 EACH

M2.5-0.45X11mm LONG
CAPTIVE SCREW

PAN HEAD SCREW

PRINTED CIRCUIT BOARD
(NOT PART OF HANDLE KIT)

CAPTIVE SLEEVE & SCREW

M2.5-0.45X8mm LONG

BOTTOM HANDLE

PAN HEAD SCREW
M2.5-0.45X6mm LONG

SHOWN 3U X 4HP
(NOT PART OF HANDLE KIT)

(NOT PART OF HANDLE KIT)

EMC GASKETED FRONT PANEL,

EXPLODED VIEW
3U FRONT PLUG-IN CARD ASSEMBLY

02/ 27/ 15

IEL-TYPE-IV

ALL

08/ 31/ 12TRUSHAR

INITIAL RELEASE

   CA  91605

OR AS A WHOLE WITHOUT THE WRITTEN PERMISSION OF VECTOR ELECTRONICS

HANDLE, TYPE IV

   NORTH HOLLYWOOD,

& TECHNOLOGY, INC IS PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

THIRD ANGLE PROJECTION

MATERIAL

FINISH

DRAWN

CHECKED

ENG APPR.

MFG APPR.

Q.A.

COMMENTS:

DATENAME

SIZE

D
DWG.  NO.

SCALE: 1:1

B

C

D

   11115 VANOWEN ST.,

VECTOR ELECTRONICS & TECHNOLOGY, INC.  ANY REPRODUCTION IN PART

1101.10

SHEET 1 OF 1

D
IE

L-
TY

P
E
-I
V

R
E
V

F

E

F

E

12345678

8 7 6 5 4 3 2 1

D

C

B

A UNLESS OTHERWISE SPECIFIED:

REV

B ADDED P/ N : 90100002, FOR RTM PANELS

CAGE CODE : 82893

INJECTOR/ EJECTOR

A

ALL

   www.vectorelect.com

A

APPROVED
THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF

DATEDESCRIPTION

B

REVZONE

B

REVISIONS

DIMENSIONS ARE IN INCHES
TOLERANCES:
DEC  X.X           0.1
DEC  X.XX         0.03
DEC  X.XXX       0.010
FRACTIONS       0.050
ANGLES             1

09/ 19/ 17


